communications

Redline SIN I

T

2001-1234-12345

TB3638F7 Transceiver
24VDC, 1.5A
Made in Canada

CS00780

FCCID:QCB-AN100UA




01

)

DIMENSIONS ARE ININGHES

RADIUS - 015
BREAK EDGES .10 X 45" MAXIMUM
DIM AHD TOL APPLY BEFORE FINISH

UNLESS OTHERWISE NOTED

>50 | 5240
<2a0 | <e80

205" | 203 | 202"

BILL OF MATERIALS
AND QUANTITIES

SYMBOL| DESCRIPTION
TB3638F7

23-00063-03

23-00085-01

B1 PCA ASSY
LABEL.PRINT
B2 | ONDEMAND

01 [TEM 22 WAS 60-00262-00

0 IssuE
REV

SEE NOTE 2

SEENOTE 11 (22)(26)--

WAL

TAB SHOWN IN
OPEN POSITION

NUT FLATS
ALIGNED
VERTICALLY —

DETAILA

SEENOTE7

— (2
22

“~L—HARDWARE PART OF

~—TAB SHOWN IN
LOCKED POSITION

GENERIC PARTS LIST CHART

ITEM | QTY.  PARTNO. DESCRIPTION NOTES

1 SEE CHART ASSEMBLY, PCA, BASE STATION TRANSCEIVER

2 1 30-00253-00 | CABLE ASSY, RF N-TYPE TO MCX RA, 27" OA.L

3 1 ’ 50-00339-00 GASKET. R35 BASE STATION TRANSCEIVER

4 1 50-00340-00 LABEL, SERIAL NUMBER, R35 BASE STATION TRANSCEIVER

5 1 50-00453-00 | WASHER, RETENTION. 3/4, EXTERNAL TOOTH

3 1 50-00454-00 | LABEL, TAMPER SEAL

7 SEE CHART LABEL, CHASSIS, PRINT-ON-DEMAND

8 1 50-00530-00 PAD, EMI ABSORBER, BASE SATATION TRANSCEIVER, LONG

9 1 ’ 50-00531-00 PAD, EMI ABSORBER, BASE STATION TRANSCEIVER, SHORT

10 1 50-00576-00 PAD, THERMAL INTERFACE, TB RADIO, LARGE PINK SIDE UP

" 1 " 50.00577-00 PAD. THERMAL INTERFACE, TB RADIO, SMALL "PINK SIDE UP

12 1 ’ 50-00581-00 HOUSING, BASE STATION TRANSCEIVER, DIE CAST )

13 1 50-00582-00 COVER, BASE STATION TRANSCEIVER, DIE CAST

14 1 50-00597-00 PAD, EMI ABSORBER, 3.125 X 1.500

15 8 60-00007-00 | SCREW, 6-32 X 5/16, PPHMS, SSTL. WWASHER 8in-Ib TORQUE

16 1 60-00022-00 | SCREW, 10-32 X 1/2 SLOT INDENT HEX MACHINE, GREEN ZINC ~ HAND TIGHT

17 1 60-00092-00 | LOCKWASHER, #10, EXTERNAL TOOTH, SSTL.

18 1 ’ 60-00155-00 POLYBAG, 6-1/2" X 13-1/2" X 2 MIL . NOT SHOWN ON DRW.
19 2in. 60-00174-00 TAPE, 48 mm WIDE, CLEAR NOT SHOWN ON DRW.
20 1 60-00205-00 DESICCANT PACK, 3" X 3-1/2" X 1/4", 172 UNIT NOT SHOWN ON DRW.
21 1 60-00211-00 HUMIDISORB PACKET, 2" X 2' '
22 |ASREQD  60-00163-00 | ADHESIVE, THREAD LOCKER 222 MS

23 1 600024800 MEMBRANE, ADHESIVE PRESSURE VENT

ki 1 ’ 60-00249-00 | WASHER, 3/4 OO, FLAT, NEOPRENE

25 |ASREQD  60-00261-00 | GREASE, THERMAL COMPOUND NOT SHOWN ON DRW.
% g 60-00271-00 | SCREW, 10-32 X 5/8, PFHMS, 82°, SSTL. ' 20 in-Ib TORQUE

27 2 50-00641-00 | WASHER, LOCKING TAB, N-TYPE

NOTES: untess otHermisE speciFien

1. FOR TORQUE VALUES OF FASTENERS REFER TO CHART.
2.PLACE ITEM 6 ON TOP OF SCREW (AFTER ASSEMBLY) SO THAT SCREW HEAD IS COVERED AS SHOWN.

3.INSTALL ITEM 23 INTO BASE CAVITY AS PER W.L. GORE INSTRUCTIONS FOR INSTALLING
ADHESIVE VENTS,

4. INSTALL ITEM 24 AND PRESS IN ITEM 5 UNTIL ITEM 5 HAS BOTTOMED OUT ON ITEM 24.
CARE MUST BE GIVEN NOT TO DAMAGE ITEM 23 DURING INSTALLATION OF ITEMS 5 & 24.

5.1TEM 71S FOR REFERENCE ONLY. USE BOM 11-00006-00 FOR DETAILS ON THIS ITEM.

6. THE SHIELD COVER MUST BE REMOVED TO ASSEMBLE PCA SCREWS, AND TO PLUG CABLE
INTO CONNECTOR ON PCA

7.INSERT LOCKWASHER, ITEM 27 AND NUT. FASTEN NUT TO A TORQUE VALUE OF 25 IN-LB. AFTER NUT IS
TORQUED. SEE THAT FLATS ARE ALIGNED VERTICALLY. IF NOT, TURN THE NUT CLOCKWISE, UP TO 30° MAX.
UNTIL THE FLATS ARE VERTICAL. FOLD THE TABS OF ITEM 27 AS SHOWN IN DETAIL A. CARE MUST BE GIVEN
NOT TO SCRATCH OR MAR THE PAINTED/FINISHED SURFACE OF THE HOUSING

8. APPLY A THIN FILM OF ITEM 25 ON PCB BOTTOM FOR RF POWER AMPLIFIER U56 AND Q24 ONLY IF
TRIQUINT TGA2925 IS USED.

9. UPON COMPLETION OF ASSEMBLY AND TESTING, INSERT UNIT INTO ITEM 18. PLACE ONE (1) OF
ITEM 20 INTO PACKAGE AND SEAL WITH PIECE OF ITEM 18.

10. SOLDER WICKING IS NOT ACCEPTABLE ON GOLD PLATED PADS ON BOTTOM SIDE OF PCA.
ALL MASKS {IF USED) MUST BE REMOVED FROM THE PCA PRIOR TO ASSEMBLY INTO HOUSING.

11. APPLY ONE (1) TO TWO (2) DROPS OF ITEM 22 ON THREADS OF ITEM 26 PRIOR TO ASSEMBLY.

12. FOR SHIELD FRAME TAB BENDING CONFIGURATION, REFER TO THE TAB BENDING INSTRUCTION DIAGRAM,
TAB BEND LOCATIONS-TB RADIO.DOC. NOTE THAT ALL TABS MUST BE BENT FLAT.

13. ADHERE ITEM 14 TO TOP OF SHIELD COYER USING THE SHIELD COVER EDGES AS GUIDES FOR ALIGNMENT.,
NOTE THE CUTOUTS ORIENTATION, TO GO OVER THE BENT TABS.

s
O L

Redline o

communications o

1S THE PROPERTY OF REOLINE

TS ISSUED IN STRICT GONFIDENCE
AND SHALL NOT BE REPRODUCED.
‘R COPIED OR USED AS THE BASIS
FOR THE MANUFACTURE OR SALE
OF APPARATUS WITHOUT PRIOR
WRITTEN PERMISSION

oeE crurr op. 8207 DRAWING, ASSY, GENERIC,
" | BASE STATION TRANSCEIVER,

E— == | RoHS, DIE CAST HOUSING

o e D] oz [0




